Kuta Software - Infinite Geometry Name

All Transformations
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Graph the image of the figure using the transformation given.
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Graph the image of the figure using the transformation given.

9) rotation 90° clockwise about the origin 10) reflection across y —Ax}$ gand~ U-'Oe-)d S
B(-2,0), C(~4, 3), (-3, 4), X(-1, 4) K(=5,-2), A4, 1), 110, -1), J(=2, —4)

Ay
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Find the coordinates of the vertices of each figure after the given transformation. irst!

11) rotation 180° about the origin 12) reflection across X "CW.'S '\M&n "-MS‘O}L
E(2,-2),4(1,2), R(3,3), 5(5, 2) J(1,3), U(0, 5), R(1, 5), C(3,2) Le 2.,
13) translation: 7 units right and 1 unit down 14) translation: 6 units right and 3 units down
J(=3,1), F=2, 3), M2, 0) 5(-3.3). c(-1,4), M2, -1)
=D
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7) _ 8)

reflection across the x-axis rotation 1807 about the origin g ¢ rg_{lccﬁm

[(X; N3 i _‘D l Qthose x ~axis onch 4-oxis
Graph the :‘;]nage of the figurle using the transformation given. i()(j ‘j ) —% ("' X i i \'1 )1
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9) rotation 90° clockwise about the origin 10) reflection across y=x
B(-2,0), C(-4, 3), z(-3, 4), X(~1, 4) K(-5,-2), A(—4,1). 10, -1), J(-2, -4)
Ay AY

Find the coordinates of the vertices of each figure after the given transformation.
11) rotation 180° about the origin _ 12) reflection across y=2

E(2,-2),4(1,2), R(3, 3), 5(5, 2) J(1, 3), U(0,5), R(1,5), C(3,2)

Et1-3.2) 7=t =2, Ri-3,~3). (-5, -2} U0 =10 R =1L ¢ 2l oA 1
o N (= (x, —y+2))
13) trans]anon 7 units right and 1 unit down 14) translation: 6 units right and 3 units down

(-3,1), F(=2,3), M=2,0) 5(-3, 3), C(-1, 4), M(-2,-1)
214,08 Fi3. 20 N3, ~1) §43, 01 €18, 1), Wid, —4)

Gy (xr,9-10)  0qg) = Cere,y=3)
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